Discussion 4
 In the following multiple-choice questions, please indicate the correct answer.

1.
If P(A) = 0.84, P(B) =0.76 and P(A and B) =0.90, then P(A or B) is:

a. 0.06

b. 0.14

c. 0.70

d. 0.83

2.
If P(A) = 0.20, P(B) = 0.30 and P(A and B) = 0.06, then  A and B are:

a. dependent events

b. independent events

c. mutually exclusive events

d. complementary events

3.
Suppose P(A) = 0.35.  The probability of complement of A is:

a. 0.35

b. 0.50

c. 0.65

d. -0.35

4.
If the events A and B are independent with P(A) = 0.30 and P(B) = 0.40, then the probability that both events will occur simultaneously is:

a. 0.10

b. 0.12

c. 0.70

d. 0.75

Use the following to answer questions 5-7:
A group of employees of Unique Services will be surveyed about a new pension plan.  In-depth interviews with each employee selected in the sample will be conducted.  The employees are classified as follows.
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5.  What is the probability that the first person selected is classified as a maintenance employee? 
A)  0.20 
B)  0.50 
C)  0.025 
D)  1.00 
6.  What is the probability that the first person selected is either in management or in supervision? 
A)  0.00 
B)  0.06 
C)  0.15 
D)  0.21 
7.  What is the probability that the first person selected is a supervisor and in management? 
A)  0.00 
B)  0.06 
C)  0.15 
D)  0.21 
Use the following to answer questions 8-12:
Each salesperson in a large department store chain is rated on their sales ability and their potential for advancement.  The data for the 500 sampled salespeople are summarized in the following table.
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8.  What is the probability that a salesperson selected at random has above average sales ability and is an excellent potential for advancement? 
A)  0.20 
B)  0.50 
C)  0.27 
D)  0.75 
9.  What is the probability that a salesperson selected at random will have average sales ability and good potential for advancement? 
A)  0.09 
B)  0.12 
C)  0.30 
D)  0.525 
10.  What is the probability that a salesperson selected at random will have below average sales ability and fair potential for advancement? 
A)  0.032 
B)  0.10 
C)  0.16 
D)  0.32 
11.  What is the probability that a salesperson selected at random will have an excellent potential for advancement given they also have above average sales ability? 
A)  0.27
B)  0.60
C)  0.404
D)  0.45
12.  What is the probability that a salesperson selected at random will have an excellent potential for advancement given they also have average sales ability? 
A)  0.27
B)  0.30
C)  0.404
D)  0.45
Use the following to answer questions 13-14:
A study of the opinion of designers with respect to the primary color most desirable for use in executive offices showed that:
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13.  What is the probability that a designer does not prefer yellow? 
A)  0.000 
B)  0.765 
C)  0.885 
D)  1.000 
14.  What is the probability that a designer does not prefer blue? 
A)  1.0000 
B)  0.9075 
C)  0.8850 
D)  0.7725 
Use the following to answer questions 15-18:

The following table represents the cars in the showroom based on the country of origin:

	
	Big
	Small
	Total

	American
	100
	50
	150

	German
	50
	150
	200

	Japanese
	30
	120
	150

	Total
	180
	320
	500


If we randomly select a car from this showroom; What is the probability

15. That the selected car is American OR Japanese (approximately)

a. 0.15

b. 1

c. 0.30

d. 0.60

16. That the selected car is German OR Small (approximately)

a. 0.625

b. 0.775

c. 0

d. 0.74

17. That the selected car is American AND Big (approximately)

a. 0

b. 0.20

c. 1

d. 0.625

18. That the selected car is Small GIVEN (Condition) that it is Japanese (approximately)

a. 0.80

b. 0.375

c. 0.75

d. 0.50

